BTl - AQR(BEAA) FR255F4 A 1 BB
Bl &% | #HEH 5 x| &t BT &% | #H&EH 5 x| &t

FEZEET 92 160 173 | 333 |'= RRET 328 432 475 | 907
KIZHT 1,811 2,444 2517 4,961 |#RHT 374 483 456 939
el L) 126 113 103 216 |ABET 161 223 218 ! 441
=BHE 3,962 4,964 5168 | 10,132 | LT 253 334 371 ! 705
=8itE 1,160 1,469 1,519 2,988 |71 BHET 329 403 442 | 845
S EHET 377 537 539+ 1,076 |FABAT 333 388 447 835
2 [H AT 1,458 2,153 2,111 ' 4,264 |#HT 284 340 383 ! 723
T FHET 232 284 340 | 624 |2 HT 427 466 472 | 938
IK T BT 1,131 1,588 1,593 | 3,181 |#H/RHT 154 241 266 | 507
& T 663 1,016 995 2,011 [AT4HT 2,146 2,782 2,658 1 5,440
3R A< ET 76 138 152 ! 290 || 7B HT 97 162 158 ! 320
4/ SERET 514 824 831, 1,655 [AGHET 857 1,052 1,075, 2,127
T AR ET 394 547 559 | 1,106 | SHT 861 1,059 1,106 . 2,165
1+ LB 134 190 185 375 |EHT 0 0 0 0
s ARET 199 255 250 ! 505 | — €& BT 159 246 245 ' 491
Y& BT 60 73 57 | 130 || BT 841 1,155 1,195, 2,350
T HT 284 370 373 . 743 |2 R ET 4,469 6,263 6,447 1 12,710
J\NEEHET 332 393 418 811 |7 R 2,149 3,003 3080 ' 6,092
o B HT 357 399 442 ! 841 !

ARHT 395 470 540, 1,010 :

N 126 162 169 331

oh g A HT 486 594 636 ' 1,230 |

STHT 302 379 349 | 728 |

E T 251 274 297 | 571 :

{0 == T 604 714 728 1442 & § 29,748 39,542 40547+ 80,089




